H & 0l & AHS B Ml A

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
HMsdEW 23,485,873 24,052,311 A566,438
| 2,505,922 2,505,922 0
£ 100,000 100,000 0
& 1,588,340 1,484,840 103,500
= 96,000 0 96,000
Al 19,195,611 19,961,549 765,938
M4t =4 12,778,060 12,865,289 A87,229
| 1,406,922 1,406,922 0
£ 100,000 100,000 0
= 1,585,040 1,481,540 103,500
Al 9,686,098 9,876,827 A190,729
Ms2s 43 & Mse |4 9,737,857 9,723,741 14,116
| 1,371,922 1,371,922 0
= 995,040 891,540 103,500
Al 7,370,8% 7,460,279 89,384
NEAR2SEIIR 29 2,483,441 2,484,441 A1,000
= 60,000 60,000 0
Al 2,423,441 2,424,441 A1,000
401 Al&HIZ 20| 39,000 40,000 A1,000
01 AIZHI 39,000 40,000 21,000
OXE2sAIIR =4 22288 39,000 40,000 21,000
22 M=U3 XA 1,963,750 1,991,750 228,000
307 QI2H0| A 1,961,750 1,989,750 228,000
02 CIZHALAIH E XL 1,961,750 1,989,750 228,000
OZcIOtHA M IS AN 32,000 60,000 228,000
HIAL M=SUE NA(EBX) 392,000 338,000 54,000
s 392,000 338,000 54,000
307 QI2HOl A 392,000 338,000 54,000
T 392,000 338,000 54,000
02 QIRHEAAIHE £ 392,000 338,000 54,000
OOt A M =S I 4 0 20,000 20,000
= 0 20,000 220,000
ORm51el 2SI RS2 M=
HAMSA U3(FILSHLEY) 40,000 40,000
= 40,000 40,000
OHmzal tisgd| d=257801e =d
(50~60H) (R EE MM AHEA) 4,000 4,000
= 4,000 4,000
ONi2gl 8=dAE8LUZ
(FEEAMMEY) 5,000 5,000
= 5,000 5,000
ORMI2al AAAIEDI| M= HXOFCHE
(FEEAMMEY) 5,000 5,000
= 5,000 5,000




SN HSNED
HE: HSMY 84
o9l HS2s 245 2 HS0 84 (cre): xg)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
S E S EEEEREEEEE
(FRHYOEE) 10,000 0 10,000
= 10,000 0 10,000
OMi3al VK S8 S208l(F388H
OlarEA) 5,000 0 5,000
= 5,000 0 5,000
OMI108] HFE+ HRE20HE B
(FBLYHOILEA) 3,000 0 3,000
< 3,000 0 3,000
ORNigal MIF=H MHREA slottf H=Es
HOIESHS EX(FZLLT0aE ) 2,000 0 2,000
= 2,000 0 2,000
RXSHAL HMSHE X2 549,234 558,354 £9,120
202 048] %0, 120 31,240 A1,120
ETETT %0, 120 31,240 A1,120
OMSZED LET ol 29,120 30,240 A1,120
307 I240|H 498,114 506, 114 28,000
IOV STEES 498,114 506, 114 8,000
OH=HESHS ST 0 8,000 £8,000
MHASHAL HSHel X (2E) 79,000 33,000 46,000
= 79,000 33,000 46,000
307 I2¢0IH 79,000 33,000 46,000
< 79,000 33,000 46,000
RIS PONSTEES 79,000 33,000 46,000
ONSH&E HERIE B10ILTHS]
(FRHYTOEA) 15,000 10,000 5,000
= 16,000 10,000 5,000
02028 MW SIS
(FRHYTOEL) 10,000 0 10,000
= 10,000 0 10,000
OMI3E| NSHEHH HETRBTHS
(FHYHOEA) 10,000 0 10,000
= 10,000 0 10,000
ORl6a] oj4#0I50| 2EH IS SS9
=3 SR (FZLYTHLEL) 0,000 0 10,000
= 10,000 0 10,000
02023 AMAIHSE T 20+S 2043
(FFHYTOEA) 3,000 0 3,000
= 3,000 0 3,000
ORI63l 80r2 HOIESTH3!
(FBLYTO0LEL) 5,000 0 5,000
= 5,000 0 5,000
02023 0241 2feIThA HeiTh3l
(FBLYTO0ILEA) 3,000 0 3,000
= 3,000 0 3,000
ZOHO! MSES 36,926 362,926 236,000




2A:

=3 s4
o9l HS2s 245 2 HS0 84 (cre): xg)
SA - BB - SRAGEH) - NS - BES il v ol o HlDE2
307 2I240|H 306,926 362,926 236,000
EIEIEPOVSTEES 36,926 362,926 236,000
ORI208] Ab2rel =0l HR0MAENS 0 30,000 230,000
ORI43] ©1AHAIRD| &= T 0§0IHH S 0IE 43 0 6,000 26,000
SR ENEINETEES) 71,000 67,500 3,500
= 71,000 67,50 3,500
307 2I2¢0IH 71,000 67,500 3,500
< 71,000 67,500 3,500
EIEIEPONSTEES 71,000 67,500 3,500
OM205] AZeIH=0| M20t2HEHS] 0 20,000 £20,000
= 0 20,000 220,000
OXI23 F=ZHOIAI0I2THS]
(FALYHOLBA) 5,000 1,500 3,500
= 5,000 1,500 3,500
02023 ALAIZH H2HSYELI| (3l
(FSHYTOLEA) 5,000 5,000
< 5,000 5,000
O3l UNCIIZS H2F 0012
EEEAVEICEEETSITIGEE) 0,000 10,000
= 10,000 10,000
02023 AMAIZH M2 SRS
(FSHYTOLEA) 5,000 0 5,000
< 5,000 0 5,000
HONQIME RIS KIS HHXI Al 200,016 305,280 A 15,264
| 162,640 162,640 0
= 76,320 76,320 0
Al 61,056 76,320 A15,264
307 2I2¢0IH 200,016 305,280 A 15,264
| 162,640 162,640 0
= 76,320 76,320 0
Al 61,056 76,320 A15,264
RSOV STEES 290,016 305,280 A 15,264
OZHIMEH ST SR BHXI AL 200,016 305,280 A15,264
| 162,640 162,640 0
= 76,320 76,320 0
Al 61,056 76,320 A15,264
HEAE 25 2,943,638 3,085,453 £91,815
| 3,000 35,000 0
s 100,000 100,000 0
= 500,000 590,000 0
Al 2,218,638 2,310,453 £91,815
A72 HSAE 34 o RXBSe 468,453 525,453 267,000
T EEST] 450,500 517,500 67,000
01 Alt 450,500 517,500 67,000




A HsdSH

BH: SN S
sz

ol HSAE 2 EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
OSEAUNOIESE AL 2= SA 220,000 280,000 60,000
ONAALIHOIESE 2L SA 0 7,000 7,000
SF4 Mssd 24 175,185 200,000 N24,815
401 AIEHIL 20| 175,185 200,000 N24,815
01 Al&EHI 175,185 200,000 N24,815
O==22d M3 SAHEANLE 28 &
SEXEHEES 175,185 200,000 N24,815
2023 HSOLEHOAE ATHS 9,565 106,09 29,530
HZ0LEHOIAEHADHE 29 9,565 106,095 A9,530
201 Zet2d] 46,863 52,863 6,000
01 AlR2telHl 46,863 52,863 6,000
OZE2sd =FI1F 15 Had 9,000 15,000 26,000
401 AIEHIL 20| 36,470 40,000 13,530
01 Al&HI 36,470 40,000 23,530
OUtAEHAUR S=8 FIIE 25 A&l 36,470 40,000 23,530
HEALY SEF 29 5,367,063 5,827,445 A460,382
2l 249,000 249,000 0
e 96,000 0 96,000
Al 5,022,063 5,578,445 A556,382
H=AIE sXA2 5,367,063 5,827,445 460,382
2l 249,000 249,000 0
e 96,000 0 96,000
Al 5,022,063 5,578,445 556,382
SeEsd 7A 2 2,062,652 2,465,707 A403,055
101 214 35,453 36,547 A1,094
M IRtHZZ2SEs 35,453 36,547 A1,04
Ose2sd 2N d34Y 919 2,013 A1,04
201 2Bt ] 263,164 264,900 N1,736
01 AFR2telHl 69,364 71,100 N1,736
O30 € 2X23018 &dU2eied 20,264 22,000 N1,736
206 M=Hl 6,175 6,400 2225
01 =4l 6,175 6,400 N225
OFZI1& 9 BXHI|IE MO HHEM 7Y 1,775 2,000 N225
401 AIEHIL 20| 1,687,860 2,087,860 400,000
01 Al&HI 1,687,860 2,087,860 400,000
OZE2SE AR EXNY 1,562,860 1,962,860 400,000
oEXI0H I 1,469,500 1,869,500 400,000
alMs2 FA 22 281,492 289,046 NT7,554
201 Let=d] 245,410 245,99 586
01 AlR2teldl 28,800 29,310 A510
ORUTsLAI| & SY2ACANAE RX
St 2,490 3,000 A510




2A:

X XH -
o=

1242 g5 29
Rl MSAE =sA2e (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
02 S5=g4l 216,610 216,686 Va3
O&UxN=2 &fol= 23 60,924 61,000 NT6
206 =4I 9,569 10,050 2481
01 M=z Hl 9,569 10,050 /481
OB M7 (&S 2 95) 1,019 1,500 481
401 AlEHIYL S THYI 23,513 30,000 1\B,487
01 Al&ZHI 23,513 30,000 26,487
OAUNEZ AMEE2 SN2 23,513 30,000 26,487
BiAA LIRS 2 R 2 214,716 247,960 N33,244
101 QI24H| 53,051 58,966 »5,915
M IRIMZZRS 2 53,051 58,966 »5,915
OZAEZZIH(BH]) JIZ4H2 24 =2 37,616 43,531 »5,915
olZs 14,583 16,935 N2,352
oF=22=+g 12,760 14,818 ~2,058
ooft224 8,203 9,526 N1,323
oZAIE 22X 2R=E 2 658 840 A182
201 Ler23| 102, 141 116,554 A14,413
01 At2teltl 23,243 26,254 23,011
ORQIXNsSEAT| & 3|2 AAE 2K
St 89 3,100 23,011
2 35224l 78,898 90,300 A11,402
Otfatal LM s2 HII2= 58,598 70,000 A11,402
401 AIEHIZL 20| 52,084 65,000 A12,916
01 Al£ZHI 52,084 65,000 A12,916
OHERIEE s 2 13,084 26,000 A12,916
AESAHY =A 2l 95,812 97,646 A 1,834
101 QI24H| 55,046 56,880 A1,834
M IRMZZ2HS e 55,046 56,880 N1,8%4
Og8d N=HA B 55,046 56,830 N1,8%4
oF - EXt==g 7,286 9,120 N1,834
OF&E R 22l 74,637 76,360 N1,723
101 QIAHI 2,465 3,438 A973
M IIRIMZZ2E 2 2,465 3,438 2973
OO0F7& =8 ol=&e 347 1,007 2660
OO0 HOI2E HiolAe|
S& 2 HEXY) 236 549 A313
201 eer23y| 72,172 72,922 AT50
01 AtR2t2l] 10,798 10,922 N124
O&IetE2e| =2 8,876 9,000 N124
2 S22l 61,374 62,000 1626
O0F7& & |Xl2e 374 1,000 1626
oI SEHF2 KA 22 6,3% 7,3% 21,000




2A:

E M

1242 g5 29
Rl MSAE =sA2e (SH9 H2)
A -3 - SRA(3H) - ARA - Ofl &F2H I8N Hws2
101 QI24H| 3,704 4,704 21,000
M JIZtHZ22 S 2 3,704 4,704 A1,000
OZfe EgMs2 |22l JIZMIZ R 3,704 4,704 21,000
SIS HE - Ea0HHI0I KA 22l 374,605 384,605 10,000
= 40,000 0 40,000
Al 334,605 334,605 50,000
201 etz 3| 178,859 228,859 50,000
2 3522l 139,356 189,356 50,000
O&II23 54,800 74,800 £20,000
OHAL3(LPG) 62,800 92,800 £30,000
401 AIEHIKL =20 40,000 0 40,000
= 40,000 0 40,000
01 AlZHI 40,000 0 40,000
O2at BITHIMIF 2t AIZHE SAL
(FZHEdaES) 40,000 0 40,000
= 40,000 0 40,000
SESFASHE R 2el 8,286 14,286 26,000
201 LBl 8,286 14,286 26,000
2 S22l 6,420 12,420 26,000
OXII23 6,000 12,000 26,000
0t HLUASE | 22l 0 32,000 A32,000
401 Al&BIL S THYI 0 32,000 A32,000
01 Al£HI 0 32,000 232,000
ObtsHUASE MIIUSX SEAIE EX
SAt 0 32,000 £32,000
S22 028 =T (S BE) | 22l 282,319 285,199 12,880
201 fet= 3| 19,200 22,080 22,880
02 S22l 9,360 12,240 A2,880
O&II23 7,560 8,640 21,080
OYdt=t 23 1,800 3,600 21,800
prEY MIa=2% | 2l 56,449 73,541 A17,092
101 QI24H| 56,449 73,541 A17,092
M JRNZZ2NSE 56,449 73,541 n17,092
OJIZHZ22XR 212 56,449 73,541 217,092
oJl==(8Y) 21,952 39,044 A17,092
CIEREMSZ AIE HEAY 56,000 0 56,000
= 56,000 0 56,000
401 AlEBIYL S THYI 56,000 0 56,000
= 56,000 0 56,000
01 AlZHI 56,000 0 56,000
OZEs USAMS2 A2 HESA 56,000 0 56,000
= 56,000 0 56,000




FA MESHEDL
3o =g 2Y
ol =dEs 29 - 272 (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
S =2 5,090,072 5,202,243 A112,171
Il 850,000 850,000 0
< 3,300 3,300 0
Al 4,236,772 4,348,943 A112,171
IEldEd 2 - 22 1,659,704 1,699,554 39,850
= 3,300 3,300 0
Al 1,656,404 1,696,254 39,850
P2 AlE R 643,197 683,047 39,850
= 3,300 3,300 0
Al 639,897 679,747 39,850
[ elal] 108,639 116,641 8,002
M 1N 22 RS2+ 108,639 116,641 18,002
OgdF2t FA02Y 6,660 14,662 18,002
0212 3,837 11,839 28,002
201 Ler2aY| 501,248 533,09 31,848
< 3,300 3,300 0
Al 497,948 529,796 A31,848
2 s5=23Hl 457,923 489,771 31,848
Os&sRs 435,413 467,261 31,848
oMIIe3 86,952 118,800 31,848
gENE 25 2,420,022 2,482,538 AB2,516
2l 850,000 850,000 0
Al 1,570,022 1,632,533 A62,516
SEANE 228 29 262,277 317,824 A\B5,547
[ elal] 254,831 309,894 55,063
M IRINZZ2RNSE+ 254,831 300,894 55,063
OZA¢ 147,360 202,423 55,063
o+g 33,651 58,714 A25,063
oS UM 56,613 85,613 30,000
201 Ler2aY| 7,446 7,930 N484
01 At 2teltl 7,446 7,930 NA484
Ozlaze] A2Z (e, LSZRIH S 3,246 3,730 N484
SZANE AlE FA2 457,745 464,714 26,969
201 Ler2aY| 307,439 313,408 25,969
01 At 2teltl 49,968 51,468 21,500
OABEE 425 & 283 €A 4,260 5,760 21,500
2 ss=23Hl 257,471 261,940 A4,469
OA=RSFA 2| (AS:4,4%5m) 5,531 10,000 N4,469
206 MHZHI 28,108 29,108 1,000
01 MZHl 28,108 29,108 1,000
O+88 4= & 223 10,600 11,600 1,000
M2d O=sHMs2 89 1,010,346 1,020, 151 19,805
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